
SARINA BED - QUEEN
ASSEMBLY INSTRUCTIONS



Sarina Bed - Queen   | 2

HARDWARE

B
x1

F
x1

J
x22

M8*30

C
x1

G
x2

K
x1

M6

D
x1

A
x1

E
x1

M6*30

 A
X1 X1

B C
X1

X1
E F G

X1 X2

J
X8

K
X14

M8*30

L

M6

M

M8

M6*30

 A
X1 X1

B C
X1

D
X1

X1
E F G H

X1 X2 X2

J
X8

K
X14

M8*30

L

M6

M

M8

I
X1

M6*30

 A
X1 X1

B C
X1

X1
E F G

X1 X2

J
X8

K
X14

M8*30

L

M6

M

M8
M6*30

 A
X1 X1

B C
X1

X1
E F G

X1 X2

J
X8

K
X14

M8*30

L

M6

M

M8

M6*30

 A
X1 X1

B C
X1

X1
E F G

X1 X2

J
X8

K
X14

M8*30

L

M6

M

M8M6*30

 A
X1 X1

B C
X1

X1
E F G

X1 X2

J
X8

K
X14

M8*30

L

M6

M

M8M6*30

 A
X1 X1

B

X1
E F

X1

J
X8

K
X14

M8*30

L

M6

M

M8

X1

B C
X1

D
X1

F G H
X1 X2 X2

K
X14

M8*30

L

M6

M

M8

I
x1

X1

B C
X1

D
X1

F G H
X1 X2 X2

K
X14

M8*30

L

M6

M

M8

I
X1

M6*30

 A
X1 X1

B C
X1

D
X1

X1
E F G H

X1 X2 X2

K
X14

M8*30

L

M6

M

M8

X1

B C
X1

D
X1

F G H
X1 X2 X2

K
X14

M8*30

L

M6

M

M8

I
X1



D
X1

H
X2

I
X1

D
X1

H
X2

I
X1

D
X1

H
X2

I
X1

D
X1

H
X2

I
X1

D
X1

H
X2

I
X1

C
X1

D
X1

G H
X2 X2

M

I
X1I

X1
I
X1X1

J
C

J

J

B

J

G

Pre-installed higher slat height.

To arrange to lower the slat height please 
unscrew the sidebar and reattach it 
to the lower height.

Sarina Bed - Queen   | 3

STEP 1

D



J

Sarina Bed - Queen   | 4

STEP 2

A



Sarina Bed - Queen

J

J

   | 5

STEP 3

E

F



Sarina Bed - Queen   | 6

STEP 4

I



Sarina Bed - Queen   | 7

STEP 5


